Mécanique — clwils o)l : JoVI ¢ il

SilSadl Oluilidl 1 2 6a>9J]

o098l poplos S .1
s SlSaodl 5L Ll 138 (o y3T (sl pon 5wl e

+ UVgeao &S50l ol Wil
I Effet statique_L\ QS JgRR0 ©
oo UsSow Al> (88 o sl asiholl 4SS0l Wyl @l (ugSew Jgmasdl UsS,
Apygini ol ajlgi J=1
: Effet dynamique_\SJ ) JoReo &
o0 85,5 Al> (58 ponx (sde didnoll 4S6holl Wl il @il (sSuy=5 Joaoll LsSy

S5 8ol bl Jgean g5 o pi &l o> dcgomoll sa> 1 1 bliw

Bix) )
3

2 /
L7 ‘
o

iy N Ay M _
OGS e Tut

ﬂ“_‘:‘:—- " =5 — --...__.«_-':.

D oD Ll 098]l Qpin Ao (spio lados wSwilSo il JS U8
leiog d58)l dpmio Wliuow lp) dpiou dgall Jioig .0amidl c sminll ol VI bl abass -
Hlizall pludl LpJob
N Gigadl sd wlasgll cswllell pladl (9 398l 5a>g
Saodll bivari .2
+ Olaio Jld Cus SwlSuodl L5l dsud wows> Sgall ias
A o ol g pwledb ol
A e wlhwildl .1 .2
 lpio S e s 98 5,31 de pauz 58 bodic (s s e ol
8,005 of &l Lo] (g § Aumtabolio Wil *
oSLlw slo (sl Ulgaly ulol> 999 B Laya> loww> 9 A Luubleo (sJlgill (sle g
(oMel Jsoadl)
S =
5 . I i

Les actions Mécaniques_cusolSall ol L.g"’i.d ;2 61>9/

Prof : Said NADIR




Ay Ol (88 loguasy g2 OIS =i ulolzdl Ol s\

o 8l A &S5 sins b (59 Logi] Jgas 3V (sle lagio JS 01,8 B g A Olowz
13 Jioig B sde A L5l e @il B aS,> ol S « F g 898l ,ildl 1is Jioig A (sle B Ll
F e dgall sl

( igs Ui ) Gaoux AliS Josy a3l auigS il *

ooz G Joar 80,005 of dudlss b b § @uSlw 2pS Wluwili %

rowlaidU oluwilidl 2 .2

wlodd] 138 UgSy 239 .ase Lwled (58 88 g ,31 (sle paw g bodice wd Lwledb ol
oSou Vg S @l sle €590 Lwlodl OIS 13]g .asogon Lulodl 858 Ol Jgas Llnas gogon
acien pwlodl 868 Ul Jgis alnsi Lpslilow

: Eigo b_._:"'ii—i

r bl

oy ol Jaod omins daw 999 53Vl pulel adaiw B399 JoVI ppoum> g
w589V Sginal) il o sl

¢ lpaiog Al JS s pousdl (sle @audnoll Sgall 5,1 — 1

¢ adaudly powzdl G pwledl pis ool — 2

Al JS (9 powzdl sde asdaoll sl plw wey Jio — 3

Cal> JS s ponsdl Lde aadaoll seall Usleis Ja— 4

Ao M>

&l acjgo Sod adunall Soall WeSs Al> JS (9 adadly powsdl G pwled] pi losie
: : -&)'9-°Cu»L03u-C

ac;oall wlsldl geozd @98 dgi lpluiod o Siou acjgell dgall Ul Lsle adlaol adg
pssizel) oy Guladl @>Luaso 3550 8o sk 18,56 alasis R lp) 50,0 dpxia

: ool pwloidl S9d — o

rbluv

me = 300g aliS ( B) )31 locwu>g Jasss Mma = 5009 ailiS (A) Lo boww> (sl
.l

C &L 9 @il 0dd e e -1

T(B) s (A) promuzdl e asnoll sgall 5,21 -2

= e Se8y pwlaidly S8 (5] Sesll 0id i — 3

S ol 9 (B) panzdl o3 daselly (A) powzll G pwloddl piy ol — 4

oo Aandaoll d9ally sl yigiy (A) powzdl (sle byl Byb o dsudaoll 898l (souus — 5
¢ vl yigi (B) powzdl (sle palll B,b

g = 9,8N/kg s § &lull (e Gaigall (sip=io Jio

Les actions Mécaniques_cusolSall ol il:2 o1>9/l

Prof : Said NADIR




; aoM>
sliel (Soy ((B) ozl ) of (A) ozl (sde Gulos 898 (paull of ) oyl bala,
o pwleddl @hss Jios 9 Geogon ywled 899 (ad alal ol dgsll Ul Jgsi audnss wleddl a>Luuo

: A ] 698l 9 Al d9)l — 2

B> lg adsls | Sesll wai o Sy dwg el Acgool| ayaxs Ul

(plu>l 5l ) pon= Byb oo g doll dcgazoall (sde dddnoll Sgill (sd au)lzl Sgsll
acgazoll isle Soill 01 saki lodic asls Seill weSi Loy dcgomeall 048 (5] wsoiiy
wgdell acgozall 038 Wl i (ol 9l ) pow= Byb o dwg) ol

rabelall 698)l .3

Jeas (C) powsdl Ulei| bW ¢ peb (1) Sgiue BHgd M ailiS (€ ) locws Liviog 13
S lopwloi @>luo Sgis sle P aijg

adaelall 8ga)L Ul gy @i anll 898l  somus

sds ol adowd] sde i lgpdle LUg,S MSiw 35U Lesl as <lgpd] oo dunsy 8,5 LMo 13
898 o 9 .aC;590 S8 b Sgall Ul Jgas logwlod d>luwe (sde pi bl 1is .6,SU
alnels 89all uldl 1y &g, 80l

: dhclall 698/l olxil .2 .3

de Sxgac daclall dgall LU s Ol puiows 1 JSoadl oo

c (C) poxl g
olelad S wde Lagac clas clgpdl ol s\ 2 JSeadl oo
> il aaelall 8g8)l il s Ol puiiows 8,51 809 OIS LoaS &S 9 Bules
s>l p=hhw (sle Sagoc 8)SUl (e (slgpdl ) sl lphalow

 a\Mall S lpislue sill aasidl 0igy bnmeodl s3] cale M abasill (sd p basiall (6,2

p=§®F=p><S

Les actions Mécaniques_cusolSall ol L.g"’i.d ;2 61>9/

Prof : Said NADIR




(C):F=P=mxg s dl> 59" ahaclall d9a)l b2 : F
M Lpinsg bl Lwd pa il pwledl @>lwo 1 S

(Pascal ) : Pa JISLwll s wlasgl) csolledl plaidl (58 @a>g « baall : p

1Pa=1—NZ=1.rn_2

Im

: oVl Jgazdl puosl

heall  [(C) pousdl Uss| wsSoll &,

80 000 000 2m
10N 25 cm / S 4 ;
ple

12 500 Pa 125N

O

.(bar) ,Ul 6a>9 Josiw b WLe gilasdl 8 1M (o> 820 da>9 d JISCWU
vaw Loyl dls . 1APa=100Pa o JISLwbeiSup)l dcline 81>y Josinws dugzdl slo,Vig
(MMHg ) 53l Lo siouluodl ol ( Mbar ) lulallS 5,5Vl wlasgll

ile bheo wld 4.3

bheall jwlias @ Gwlall 8501

s uleg s

b 989 Blholl bheall julisoe ©
Qousll o9 ¢lrel) duill el oo aold
sl hean) as,s=ll

manométre relatif a liquide ug;u&” ,_J..uo N J| bheoll u.uhmo <>

: 1 ezl heall dwll 5l
h

Pgaz_patm:pgh

|3 pression {atmospherique) la pression du gaz & gauche
est |§I mame dans les dex est supérieure a la pression
parties du tube atmasphérique & droite
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Pab = Phydro+ Patm

Profondeur Phydro Patm Pabs
Om Obar Ibar Ibar
10m Ibar Ibar 2bar
25m 2,5bar Ibar 3,5bar
300m 30bar Ibar 31bar
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